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	Answer the following.
	
	Answer the following.

	1. Danny downloads music from his favorite website. They charge $5 per month plus $0.25 per song. If he downloads 15 songs this month and 23 songs next month, how much did he spend on music for the two months? Write and simplify the expression. Justify each step.
	
	1. Cynthia needs to complete 15 hours of community service for class. She spent 3 hours at the nursing home visiting residents and 4.5 hours loading relief supplies at the Red Cross. How many more hours of service does she need? Write and simplify the expression.

	2. The low daily temperature for each day during a week in January was: Sunday 15, Monday 3, Tuesday 5, Wednesday 0, Thursday -2, Friday -2 and Saturday 12. What subset(s) of the real numbers do these temperatures belong to as a set?
	
	2. Brandon scored 95, 87, 99, 95 and 89 on his last 5 quizzes. What subset(s) of the real number system do these scores belong to as a set?

	3. Give the reason for each step in the simplification.

(2 + ½) - ½ + (2/3)(3/2)

2 + ( ½ - ½ ) + (2/3)(3/2)

2 + 0 + (2/3)(3/2)

2 + 0 + 1

2 + 1

3

	
	3. Give the reason for each step in the simplification.

8(a + b) – 3a 

(8a + 8b) – 3a

(8b + 8a) – 3a

8b + (8a -3a)

8b + 5a



	Solve.
	

	1. Name all the subsets of the real number system that -4 belongs to.
	2. Identify the property that justifies each step.

4(x + y) - 4x

4x + 4y - 4x

4x - 4x + 4y

0 + 4y

4y   


	3. What number belongs to the whole numbers, but not to the natural (counting numbers)?
	4. Make a bar graph to show each students grade point average. Ana 3.5, Peter 3.75, Tania 2.0 and Luis 2.9. Which subset of the real numbers should be used to label the graph?

	5. Identify the property:

4 + (9 + x) = 4 + (x + 9)
	6. What is the additive inverse of -5/6?

	7. Identify the property for each step:

(x + y) – y

x + (y – y)

x + 0

x


	8. What is the multiplicative inverse (reciprocal) of 3½ ?

	Match each property with the example that illustrates it.

9. Zero Property of Multiplication ___
A. (9 + x) + 2 = 9 + (x + 2)

10. Inverse Property for Multiplication ____
B. 4x + 9x = x(4 + 9)

11. Associative Property for Addition ___
C. 3/7(0) = 0

12. Distributive Property ___
D. 2/7(3½) = 1 

  

	13. Draw number lines or other graphic organizer to show the hierarchy of the subsets of the real number system.

	14. Jesse bought 3 packs of gum and 2 candy bars. Tina bought 4 packs of gum and 1 candy bar. What is the total number of packs of gum and candy bars that they bought? Write an algebraic expression for this situation and simplify it. Justify each step.
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Guided Practice 

1. 2(5) + 0.25(15 + 23) = 19.50

2. Integers

3. -Associative property
-Additive inverse

-Multiplicative inverse/identity

-Addition…etc.

Review Practice
1. 3 + 4.5 + x = 15, so x = 15 – 3 - 4.5 = 7.5 hrs

2. Counting numbers, whole numbers, and integers, rational numbers

3. -Distributive property
-Commutative property

-Associative property
-Addition…etc.
Independent Practice 

1. Integers, rational numbers

2. Distributive property, commutative property, additive identity

3. 0

4. Rational numbers

5. Commutative property

6. 5/6

7. Associative property, additive identity

8. 2/7

9. C

10. D

11. A

12. B
13.
	Natural or Counting Numbers
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	Whole Numbers
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	Integers
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	Rational Numbers
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14. 3g + 2c + 4g + c = 3g + 4g + 2c + c = 7g + 3c
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